
Subject: Re: 4Cfit
Posted by Alexandros on Tue, 13 May 2014 12:25:44 GMT
View Forum Message <> Reply to Message

The right macro is this:

for (j=0;j<psi4160.GetLength();++j) 
		{
		   
			npsi4160->Column("ev",	(Float_t) i);
			npsi4160->Column("cand",	(Float_t) j);
			npsi4160->Column("ncand",   (Float_t) psi4160.GetLength());
			npsi4160->Column("nmct",    (Float_t) npsi4160mct);

			PndKinFitter fitter(psi4160[j]);
			fitter.Add4MomConstraint(ini);	
			fitter.Fit();	
			RhoCandidate *psif = psi4160[j]->GetFit();	
						
			npsi4160->Column("psi2sfit",	(Float_t) psif->M());

SORRY!!!
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